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7 100kN/m#%#BZ 5| 1.00 | 000 ~ 325| 15206 |3m&EEZB| 000 ~ 191| 3.83 20.49 | 100kN/mM%EB25| 1.00 | 1085 ~ 7857 152.06 |3m%EHBZ 3| 4000 ~ 7857 5.83 20.49
zh st 100|325 ~ 1104 100.00 | TS | 194 ~ 1104| 3.00 16.05 ThLlst 100|500 ~ 1085 100.00 | =hs | 500 ~ 4000| 3.00 16.05
2 100kN/m#%kEZ 5| 1.00 | 000 ~ 307| 14894 |3mEEZB| 000 ~ 186|3.78 20.22 | 100kN/m##BZ5| 1.00 | 11.03 ~ 7857 14894 |3m%E#BZ2 53| 2000 ~ 7857 3.78 20.22
zh sk 100|307 ~ 108 100.00 | Th5 | 1.86 ~ 1086 3.00 16.05 zh st 100|500 ~ 1103 100.00 | =hs | 500 ~ 4000| 3.00 16.05
3 100kN/m#%#BZ 5| 1.00 | 000 ~ 275| 14348 |3Im%EEZB| 000 ~ 1.73| 3.70 19.81 | 100kN/m%E#BZ5 | 1.00 | 11.44 ~ 7797 143.48 |3mZE#BZ 3| 2000 ~ 7797\ 3.70 19.81
zh st 100|275 ~ 1054 100.00 | ThS | 1.73 ~ 1054| 3.00 16.05 zh st 100|500 ~ 1144 100.00 | Zhs | 500 ~ 4000| 3.00 16.05
4 100kN/m##25| 1.00)| 000 ~ 293 146.45 |3mERBZ B[ 000 ~ 180 3.74 20.03 | 100kN/m#E#BZ5| 1.00 | 11.20 ~ 7842 146.45 |3m&E#ZB| 2000 ~ 7842| 3.74 20.03
zh sk 100293 ~ 1071| 100.00 | Thds | .80 ~ 1071 3.00 16.05 zh st 100|500 ~ 1120 100.00 | Zhs | 500 ~ 4000| 3.00 16.05
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m%E#BZ % ~ ImEHEZDL ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#B 2 % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#B 2 % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#B % % ~ ImEHEZDL ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m%E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m%E#BZ % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#BZ % ~ ImERBZ S ~ 100kN/m%E#B % % ~ ImEHEZD ~
ThLlst ~ Zh s ~ ThLlst ~ Zh s ~
100kN/m#E#B 2 % ~ ImERBZ S ~ 100kN/m#E#BZ % ~ ImEHEZDL ~
ThLlst ~ Zh s ~ ZhLlst ~ Zh s ~
100kN/m#E#B 2 % ~ ImERBZ S ~ 100kN/m%E#B 2 % ~ ImEHEZD ~
Zh s ~ Zh s ~ Zh st ~ Zh st ~
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